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Year 10 Mathematics

Equations Revision 1

Solve these one step equations

a) m+17=28 b) n-12=10 c) 3p=7 d) 7=6
Solve these two step equations

3
2 3m+5=7 b T==3 0 10-3m=25 & £-6-15
Solve
a) 3a+5=2a+7 b) bm-3=2m+9 ¢) 2-2xX=8+x
Expand the grouping symbols and then solve the equations
a) 2a+4)=10 b) 5(m-3)=3 ¢ 32m-4)=4m-6
Expand the grouping symbols and then solve the equations
a) 3(m+7)=4(m-2) b) 3(x+4)+2(x-5)=4
[fP=2L+2BfindPifL=4andB=3

Ifv=u+atfindvifu=12 a=05and t=12.6

Ify=3x-2findxif y=10

a+b
2

-

IfA= findaiff A=7and b=10

The product of a certain number and 6 1s 72. What is the number?

If a number 1s multiplied by 6 and 7 1s subtracted from the product, the answer 1s 23.
What is the number?

The sum of three consecutive integers is 30. What are the integers?

A rectangle 1s twice as long as it is wide. If the perimeter 15 144 cm, what are the
dimensions?

Find the value of x in this diagram
2x 4




ANSWERS

Question 1
a) m=11 b) n=22
Question 2
a) m=2% b) a=12
Question 3
a) a=2 b) m=4
Question 4

a) a=1 b) m=33%

c) p=2¥s

¢c) m=-5

c) x=-2

c) 3

d) m=24

d) p=63



